Opwghpp 1141
Utwunuip <<bpbfuwubph 2ningonjw fuiwdph Swnwinipjniutibn>>
pwdhu 10 funwip 0.4  nuwu 0.1 opwghp 0.8
(nuyp pinlypuyhti Swiuubiph gnpéwnwlwl nwuwlwpqdwt)
Fudwu wnwplujh
Quihh Snuwdwpp
Uhgwighly QUL;tU dhwyn thu‘;{:h Lwuwlp( (hwg. npwd)
é\tuéhwqhnn wujwunwdp L np Gl
punn SUU
nwuwlwng
426700 Uttnwdpkpp
Pwtwl/y [Mwi/gnulw
15111120 Swywph dhu thwihniy- uud| Ug 4700 75 353
15616000 <unlwdwldwp Uu| Ug 300 5 2
03210000 Ywpwnindh| uu| Yg 200 200 40
03221110 Swqun Uu| Ug 200 40 8
03222128 huudnp Uu| Yg 200 50 10
Uuunwdpbpp [Ula) 29 536
Cunwdbup : 29 948,0
Sunbuwlwt b Jwpphs uynipbp
Sunbuwlwl U dwpphs Ujnipbn (s 7 939,0
Cunwdbup 7 939
421200 Fubipqliwnpl swnwjnipiniu
65310000 Eutipgtinhly Swnwynyejniuutin Uu] Yduw 2722,8
X 2722,8
Cunwdbkup
421300 : Undniiw Swnwjnipinit
65000000 Hinwwnhqughuw uu| pd 20,0 400,0 24,0
65000000 Lpudwwnwlwpwpdwl Uud| fud 200,4 230,0 141,2
Cunwdkup 165,2
421400 LYwuwh dwnwjnipinit
<bnwh U Sus 1917]
64211120 T UU{ wihu| 20 000,04 3,00 60,00
01,2024
64211120 Pudwitinpruwshls Juipd Uyl huwn| 416668 5,00 20,83
Lbphwbpuwwytnwljwl wwundhpdwd
65100000 . uu| huwn 380 1,00 0,38




Cunwdbup 81,21
421500 Uywhnjwgpwlwl swhuubp
66510000 wwwhndwagpnip)ni/460I1LC6ET uu hwwn | 18 000 1 18,0
Cunwikup ' 18,0
423200 Cwiwlwpgswiht swnwynipjwy
72100000 |423200 Cwdwlwngswiht Swnwjniejnit |[UU ) ‘ 137,0
137,0
423900 Cunhwunip punyph swiuuk
72100000 Cunhwunin punyph dwhuubn uu 150,0
Cunwdbup 150,0
424100 Vwubwghnwlwl swnwynipjniy
Vwulwghnwlwl dwnwjnysiniu
73111100 [Upjwl punhwunip pUlnipniu uu hwwn 3 000,0 1,0 3,0
73111100 |hdniwpwbwlwl [Wpnpwwinp uu hwwn | 13 000,0 1,0 13,0
Nhnunpwihnfuwnpduwt Swnwjnipyniu Uu bl 3600.0 10 3.6
63511400 [hnwywp
Nhnunpwihnfuwnpdwu Swnuwijnipjniu Uu il 12/600,0 10 12,6
63511400 [dwjhu thtwpdup
Nhnunpwihnfuwnpdw Swnwjnipjniu Uu bt 7200,0 10 72
63511400 |dwpwn
et nopdpfuRpduit UU  [hwwn | 100 000,0 1,0/ 100,0
33971200 |hwdwp
85121100 Muwppbpwlwl pdrolwlwl Qﬁhnqajmh uu dwpn 5000,0 1,0 5,0
85121100 NMwppbpwlyw pdolwlwt pulnipyniu uu dwpn 5000,0 1,0 5,0
Lunwdbup| 149,4
425100 Chupbkph b Ywnnygubpp pupwghy Unpngnul b wwhwwnud
Ctupbph b Ywnnygubph pupwghly (UU
Cunwdbup
44921200 (Yhp uu la 200 10 2,00
44311140 |Mwwnihwuh gug uu dbunp 850 30 25,50
24911200 |kdnyupw uu hwwn 500 2 1,00
39715100 |Swpwgnighsh sbpdwlwpquwynphy uu hwun 1000 5 5,00
39715210 |2npwgtinn dbipbUwh wnku uu hwwn 10000 1 10,00
31651400 [Utyniuhs dwwwybu uu hwwn 200 10 2,00
33411220 (Uhhynu uu hwuwn 1200 1 1,20
Unpwn wpwwphu E27/Mnpwn
wpunwphl wwwnhu wdptgynn,
2ngwliwyh wpwnwphu wnpwdwaghép hwn
90-100uUu
300 20 6,00
‘hwpwyh qunhywynp
nnnpnhy/Minnpnhsh Gplwpnie)niup
35ud, qunhluwynp hwun 1500 10 15,00
SQbnngh sbpdwlwpquiynphy/ huwn 2500 2 5,00
727
1425200 Ubpbuwubph b uwppwynpnuiubph pipwghly unpngnud bt wwhywtind
Spwbuwnpuwiht uwnpuwynpnulubiph uu
50111330 ¢ = CastrolSW40 L 6 500 4,1 26,7




34321121 3ninh qunps21080101200508 hwwn | 5000 1 5,0
34321121 Onh quhys Lada larg 8450033130 hww | 10 000 1 10,0
[ Utwnh$phq Yuwniyin 0892332050704 L 3500 > 35
09211100 WA pwindhsh jninh U jninh qunhsh hwwn | 4000 1 4,0
34300000 | U/J pwpdhsh onh quhsh thnfuwphunid hwwn 2000 1 2,0
30000000 | Lnw.pdpniyh infuwphtnw Canon737 hwn 4000 1 4,0
30000000 (Lwppephoh thgpwynpnd Canon737 hwwn 5000 8 40,0
30000000 |Uwppnn nwuwlh thnfuwphunu EP22 hwwn 2 000 3 6,0
30000000 |Lnw.pdpniyh thnfuwphtnwt Canon737 hwwn 4000 3 12,0
30000000 [Lwpppheh thgpwynpnul EP22 hwwn 3750 4 15,0
30000000 (Lwppphsh |hgpwynpnid /MP-C4092/EP22 hwwn 5000 3 15,0
30000000 (Lwppphsoh thgpwynpnwd Canon FX10 hwwn [ 5000 3 15,0
30000000 |Lwppephsh hgpwynpnui Phaser3117/3122 hwwn [ 5000 3 15,0
Lunwdbp ' 173,2
426100 Fnwublywlwiht uynpbp U hwgniuwn
30197620  |fdnunp niywgpwlwuA4 uu wnintth 2000 20 40
30197231 [y A4 50dhlypn uu wninih 1200 6 7.2
30197232 [@npwwwlwl wpwaqwlwp L B 80 100 8
30197233 |Fnpwwwlwy Yuwuny uu hwuwn 80 50 4
30197235  |@npwwwuwy ntinhuwp e g 600 S 3
30192121 [Sphs qunhluynp UL  [hwwn 80 100 8
30195931 (Uwpytp qpuwnwtunuwl uu hwwn 180 10 1,8
30197322 [Ywphs Kangaro hd-45 uu hwwn 1200 2 2,4
30192160  [Twphfu gphy uu hwn 190 15 2,85
24910000 (Unuhua uu hwn 240 10 2,4
39263400  |Udpwly/ulpbiuy/ uu hwwn 90 5 0,45
22811130  [Stunp 48ptippe uu hwn 145 35 5,075
22811130  [Stwnp 96pbpp uu hwwn 235 15 3,525
2281111 /341 | Spwubljwlwihu ghpp uu hwwn 850 =10 8,5
30199400 |Upnuwiubiph Yuysniu pNLNR uu hwwn | 160 25 4
39263520 [Opwp A4 swih uu hwn 35 25 0,875
oL L 5 0,6
30197322  [Ubndwy 19dd/Ubindwly19du/wipwy ule !
30140000 “wphsh(unbuybih)wubin uu hwwn 140 20 2,8
30192111 |Yupph pwin&hy Centrum70x1054 o 300 2 0,6
LwdhtwghwjpAZFlaminating Pouches TUU Ul hwun -
42991310 |Pouches 216x303mm =080 ! g
P R T ol 100 4,8
L TH— Uu  fhunn 48 50 2,4
22820000 sk Ly
Cwpywwwhwlw shwpnpbp6 - i =8
2820000 |0\ hnpubuatyst Bluiprpbps UL fhunn 18 50 0,9
uu hwwn
22820000 18 800 14,4
Cwjwwwhwlwl sLwpnpbnd
¢ Phquitbp 174,375
i , Cwinbpdwip
[18231600 }hulintndwlp EUS 989.7
= Cunasibup 989,7
| Spwluwynpunwht tynipkp
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019132200/ PLughu Eun L 490 550 269,5
269,5
426600 Unnnowwwlwl jwpwpwwinp yynipbp  °
nknnpwjp 2024 uu
33611150 Upbnt/Mwuypbwnhu 10000 uu hwp 108 660 71,5
33691176 btuhuinh/nhdnhunbu 1dg/d; uu dL 2277 5 11,4
33000000 Stpunphwlunt wuwnbphw uu $1 1872 20 37,4
33671124 Snppbipu wsph Yuwpehy 0,3% 54| uu $1 1336 5 6,7
24451141 Gotiph wunwhwudwl hbnniy 2hyn Ywd |UU L 2 000 3 6,0
24961400 %hghphuh dhypnhnquw/gqihgbipn; 58] |UW hwwn 104 100 10,4
33691129 [$hq nidnyp/Sol.Nacl 0,9% 2004, uu L 1500 5 79
24311530 2pwduh wtipopuhn/3% 1004; uu hwwn 110 2 0,2
24311530 Pdrjwywu sknung/N L100 uu hwuwn 1 200 2,2
33661122 Ppnuypndbt/hpniypndbu100dg/5d; (UL 1 1400 5 7,0
33671130 | hubnpnyYhhuhhnpwipt 10dg/g YU upd, 31 10 0,3
uu 5
33000000 | dLUhuwnh) Ywphiubp/nhdbnhunbu 1dg/d; 91 2:277 11,4
Stdunhhwlunt wuwnbiphw Uu 20
33651118 /gGduinphwlunt 1gp P 148 3,0
' A uu 100
24961400 Shghphu dhypnhnguw/qihglipng 54; hwwn 104 10,4
Lwaqhinp pph Yweh| /Opuhdbnwgnihup (UU 10
33000000 hhnpwpinphn0,025% 104; ] 684 6,8
Utnhptp/Gpuwieh (i) hnporuhn 50UG7UL {5 4
33691730 304} $1 1670 6,7
uu 25
33651145 |HMipuwdbinwgnu /nbpuwdbinwqgnt 4dq/d) undy, 78 2,0
Ppnuypndbu cpwpwly/hpniypndpbu uu 9
33651145 100dq/4; $1 1400 7,0
C28nN WUthWh oWl ORWymGRRt | 3
24451141 htnniy L 5000 15,0
Sphnbpd uu 2
Uppwpunw/ynunphdwany,gtunwdhght,
phnwdbnwagnu 0,5dg+10dg+1dg/1qn
33631470 30gp hwuwn 1958 3,9
33000000 Unwypwuwinhtu 25dgq uu hwp 72 59,5 4,3
33691863 Pdolwlwl uyhpw/tehy uwhpin 96% |UU lhinp 1220 3 37
24451140 Atinph whuinwhwuhs htnniy = thinp 1950 ; 9,8
uu 2
Ptpnnnuwy/hypwwnpnuhnud
33671139 | ppnphn,$tunpnpn| 0,25dq+0,5dq/u; 200] 1 2 300 4,6
33000000 Ubjwwnnuht/dbwunnupt 3dq uu hwp 106 180 19,1
Swuwnnud Jbpnb/phughnwiht uu 3
33000000 0,255dq/1nng 304; 91 2200 6,6
274,7
Cunwdbup wwypwupubp 39 841,2
Cunwdbup Swnwjnipyniuubp 3 423,61
Cunwdbup wypwiptbp U Swawjnipjniuubp 43 264,78
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